Rapid Reasoning | Answers Year5 | Week 6 | Day3

m Harry is playing a computer game. m A school library has 399 fiction books and
836 non-fiction books.

Every time he collects a golden coin, 1,246

points are added to his score. How many more non-fiction than fiction

Every time he drops a golden coin, 2,000 books are there?
points are taken away from his score.
Harry collects six golden coins and drops 437 more books
three of them.
1 mark
What is Harry’s total score? m Write the letters A to D in order of size,
from largest to smallest area.
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Rapid Reasoning | Mark Scheme Year5 | Week 6 | Day3

Requirement Mark | Additional guidance
Q1 | 1,476 points 2

Award TWO marks for a correct answer.

Award ONE mark for correct method shown, but
with one arithmetic error. An example of a correct
method is to multiply 1,246 by 6 to find the total
number of points won by collecting coins (7,476),
to multiply 2,000 by 3 to find the total number

of points lost by dropping coins (6,000) and to
find the difference by subtracting the two (1,476).

Q2 437 more books 1
Q3 B D A C 1
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